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146 ± 7 Gy
25 ± 3 % OD
Feldspar
n = 30
151 ± 4 Gy
14 ± 2 % OD
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195 ± 8 Gy
21 ± 3 % OD
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167 ± 2 Gy
6 ± 1 % OD

RIN5

 De (Gy)

Al
iq

uo
t n

o.

50 100 150 200 250 300 350
0

5

10

15

20

25

30

0.000

0.005

0.010

0.015

0.020

0.025

0.030
fQuartz
n = 7
195 ± 4 Gy
− % OD
PM
n = 30
148 ± 2 Gy
3 ± 1 % OD
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Quartz
n = 19
255 ± 34 Gy
56 ± 10 % OD
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n = 7
388 ± 12 Gy
− % OD
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n = 7
333 ± 8 Gy
− % OD

Quartz
n = 19
255 ± 34 Gy
56 ± 10 % OD
fQuartz
n = 7
388 ± 12 Gy
− % OD
PM
n = 7
333 ± 8 Gy
− % OD

Feldspar
n = 30

413 ± 14 Gy
17 ± 3 % OD


